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N.B.-: (1) Attempt any three guestions from Queéstion Nos.'1 to 5 from Section I.
(2) Attempt any three questions from Question Nos. 7 to 11 from Section, IL.
© (3) Question Nos. 6 and 12 are compulsory.
(4) Figures to the right indicate full marks. -
(5) Both the sections should be written in the same answer-book.
Section I
1. Discuss India as a multi~cultural country. 12
2. What do you understand by Sex Ratio? Discuss various causes of declining sex ratio. 12
3. What is communalism? Explain its causes and measures to curb it. 12
4. Discuss the salient features of the Indian Constitution. 12
5. State the role and importance of women in Indian Politics. 12
6. Write notes on any two of the following :- 14
(a) Effects of alcoholism
(b) HIV/AIDS
(¢} Problems of Elderly
(d) Trafficking of Women.
Section II
7. What do you understand by Privatization? State its salient features. 12
8. What are the fundamental rights in Indian constitution? Explain each with examples. 12
9. What is sustainable development? Describe various components of sustainable 12
development. | '
10. What do you understand by ‘agents of socialization'? State the importance of values 12
- indeveloping individual.
11. Explain in detail Maslow's theory of self-actualization. 12
12. Write notes on any two of the following :- |
- {a) Genetically modified crops '
{b) Crimes among youth
(c) Farmers' suicides _ o
(d) Problems of urbanization X [TURNOVER
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P4-Exam ~2019-1-263 B v C@”?’?mw} CC(.!_}O - ‘ S
Con, 137-19, —42STND - L SP_7941 :

(3 Hours) [Total Marks : 160

B. (1) All guestions are compulsory.
-(2} Figures to the right indicate full marks.

1. Write short notes on any four of the following : S ] , 20
(a) Body language o - (d) Horizontal Communjcation
{b) . Communication Cycle . (e) Job selection interview
-(c) Listening as an art () Upward Communication

-2.. (a) What are the various functions of Public Relation Department 7 Give suitable examples. 10
OR
(a) Discuss the difference between a meeting and a conference.

(b) What is Communication ? Expl.am the different ways to overcome the bamers to 10
comrnunication.
_ OR
(b) Explain the various types of listening.

3. (a) Young evergetic fresh graduates required for Sales and Accounts work in our group of 10
Companies. Write with Biodata a letter of application to the General Manager, Laxmi
Boards Ltd., Parab Chambers, 20 Dalal Street, Mumbai — 400 001. '

(b) Write any three of the following letters : 21
(i) You want te do your Ph.D. in English from Cambridge University, write a
 SOP to submit with your application.
(ii) Write a Job Acceptance letter with reference to the appointment letter for the
post of a Accountant.
(iii) Draft a letter of resignaiion addressed to the Manager, Shivaji Cotton Milis.
(iv) Write a Sales letter to promote the sale of a Washing Machine.
(v) Write a letter of inquiry to wholesale readymade garment showroom asking
for their price list, catalogue and other informations.

4. Draft the Nouce Agenda of an Annual General Meetmg of Sindhudurg Indusfries Ltd. 8

©Also draft two resolutions :
-(a) Appointment of Banker
(b) * To issue shares to the Investers. 3

" 5...{a) A Committee has been appointed to look into the causes of the decline in results of 10

- R. Pappu College at a L.A.T.E. University Exammatmns Draft a report.
OR
(b). As a manager of a Wood Factory draft a report to be submitted to your Directors
- informing them of a fire accident and your findings.

[TURN OVER
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6. (a) Correct the following sentence : - 5
(1) Narendra walk a mile everyday '
(i) Honesty is a best policy
(iti) His son learn English slowly
(iv) Mumbai is one of the best city in India
(v) He is work as a.Computer Operator in her Company. _
(b). Write a paragraph on any-one of the following topic : 6
(D Air Strike on Pakistan . | |
(i) Games and Sports
{iii} Discipline.
OR
(c) Summarize the passage given below : 6

If women are employed and financially independent, they will be able to live life on l
their own tetms. They will learn now to deal with money and expenses, about the world
outside their homes and will become aware of their rights and responsibilities. They
will also be able to care for their families during difficult firms,
l
|

OR

(d) Edit the following passage given below : 6
in Mumbai the ideal catchment area is the roof tops from where rainwater can collected
through channels this water can there be pass through suitable screens filters and
covering pipelines thereafier the water can be send to the storage tasks afterwards this
water which has been pass through filteralion and treatment plant cun used for vatious
purposes accept drinking.
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[f women are employed and financially independent, they will be able to live life on
their own terms. They will learn now to deal with money and expenses, about the

world outside their homes and will become aware of their rights and responsibilities.
They will also be able to care for their families during difficult firms.
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in Mumbai the ideal catchment area is the roof tops from where rainwater can
collected through channels this water can there be pass through suitable screens

- filters and covering pipelines thereafter the water can be send to the storage tanks

-afterwards this water which has been pass through filteration and treatment plant can

~used for various purposes accept drinking.
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N.B. : (1) Question No. 1 and 7 are compulsory. -
(2) Attemptany two questions from the remaining questions from each sectlon
(3) Figures to the rlght indicate full marks. S -

Section I
1. (a) Explain briefly the 'folllowing concepts (any four) o 12
: (i) LawofDemand - (iv)  Opportunity cost .~ o =
(ii)  Elasticity of demand .. {(v) Break-evenpoint'
(iii)  Production function - (vi) ~Social cost. -
(b) Distinguish between (any two) :—% ' R 6

(i) Price elsticity of demand and income elasticity of demand
(1)  Average revenue and Marginal ) revenue
(iii)  Fixed cost and Variable cost.

¥ (a) What are the determinants of demand ? |
* (b) Explain different types of cross elasticity of demand.

‘3. (a) Explain need of demand forecasting. Lo S g
(b) Describe the law of variable proportions. - = = ‘

4. (a) Give the relationship between AC and MC. S
~ (b) Write an explanatory noté on producer's equilibrium. S

5. (a) Explain the relationship between TR, AR and MR under monopoly.
(b) Write an explanatory note on the long run average cost curve. . : 8

6. Write notes on (any two) — o - 16
(a) Consumer'$ surplus I S
- (b) Uses of elasticity of demand
(¢) Any two objectives of firm
- (d) Internal economies.

[ TURN OVER
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Explain briefly the following concepts (any foury =~ =~

(iy Monopoly (v) Capital Budgeting
(i1}  Price discrimination “(w) ~7 Private goods
- (vi) Investment criteria.
Distinguish between .(any-tw o)‘ L
(i) Perfect:competition and pure competition.
(ii)  Production cost.and Selling cost _
(iii)  Full cost pricing and marginal cost pricing.
Explain the features. of perfect "comp'e'_ti‘tion-._

Explain the equilibrium of a firm uﬁd'e:r":p-érfet_:gf pompétitio_n.'_:_” :

Explain different types of price discrimination.,

Write a note on dumping. . . . -
Fxamine the various objectives of pricing policy.

Discuss the role of government intervention in economic development.

Examine the various stages of capital budgeting.
Explain Payback Period Method.

Write notes on (any two) :—
{a) Normal Profit
(b) Kinked demandcuorve -

(¢) Significance of capital budgeting
{(d) Net present value method.

12

16
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N.B. : (1) All questions are compulsory
o (2) Figures to the right indicate full marks.

Section I

1. Answer any two questions from the following — 20
(a) Discuss the characteristics of business :
(b) Discuss the steps involved in setting the objectwes of the Busmess
(c) Define the term- globalization and explain the impacts of Globahsanon
- (d) Discuss the factor of External Business environment in detail.

2. Answer any two questions from the following - 20
(a) Explain the factors affecting the location of a Business unit. .
(b) Elaborate the different types of Entrepreneur.
(c) Write a detailed note on Feasibility Study. o
(d) Elaborate the problems faced by the women entrepreneurs in. Ind1a

3. Write short notes (any two) — : - 10
(a) Positive impact of Trading blocks (b) Economic objectives - . '
(c) Importance of Project Report ‘ (d) Qualities of Entrepreneur.
| Section II
4. Answer any two questions from the following :— S 20 -

(a) Define the term services and explain the scope of services.

(b) Explain the features of Organized retailing:

(¢) Discuss the various career opportunities in the Retail sector

(d) Explain in detail the stores based retail formats operating in India.

5. Answer any two questions from the following :— ' 20
(a) Discuss the advantages and disadvantages of Credit Card.
(b) Define the term FDI. Discuss the importance of FDI in Ind1an egconomy.
- {¢) Define the term Logistics and explain its importance. '
(d) Enlist the types of BE-commerce and explain B2B form of E- commerce.

6. Write short notes (any two)- —_ : ' | . 10
(a) Online marketing research (b) Classiﬁcation of services
(c) Advantages of ATM (d) Objectives of BPO
o " [TURNOVER
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Con. 199-19. ~ (Revised Course) SP-7823
' (3 Hours) . [Total Marks : 100
N.B. : (1) All questions are compulsory. '
(2) Figures to the right indicate full marks.
Section I
1. Define the terms (any Five) _ , 10
. (a) Business (e) Business environment
(b) Entrepreneurship ) WTO -
(¢} Feasibility Study (g) Three fold objectives
(d) Project report ' (h) Trading blocks
2. Answer any three questions from the following :— 30
- (a) Discuss the characteristics of business.
(b) Discuss the factor of External Business environment in detail.
(¢) Explain the factors affecting the location of a Business Unit.
(d) Write a detailed note on Feasibility Study.
(e) Elaborate the problems faced by the women entrepreneurs in India.
3. Write short notes (any two) :— | 10
(a) Positive impact of Trading blocks {b) Economic objectives
(¢) Importance of Project Report (d) Qualities of Entrepreneur.
Section 1I |
4. Define the terms (any Five) | 10
(a) Services . {e) FDI
(b) Retailing : () AIM
(¢) Internet Banking (g) KPO
(d) E-commerce ' ' (h) Logistics
5. Answer any three questions fro'm.the following — 30

(a) Explain the scope of services.

(b) Explain in detail the stores based retail formats operating in India.

(c¢) Elaborate the importance of Logistics. =
(d) Discuss the advantages and disadvantages of Credit Card.

(e) Enlist the types of E-commerce and explain B2B form of E-commerce.

6. Write short notes {(any two) :—
" (a) Online marketing research: (b) Importance of FDI

(c) Advantages of ATM (d) Objectives of BPO

10
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N.B. (1) Question Nos. 1, 2 and 3 of section I and Question Nos. 7, 8 and 9 of section II are
compulsory.
(2) Attempt any one question from question Nos. 4, 5 and 6 of section I and any
one question from question Nos. 10, 11 and 12 of section IL.

Section I

-1 . A. Study the world map given below and answer the following questions : 5
Located Bars

WORLD RUBBER CONSUMPTION VS PRODUCTION _

Valnes-in
Thousaud tonnes

5000
2500
100
E- Rubber Consumpﬁon
#3—— Rubber Production

—_———

What is the theme of the map ?

Which cartographic technique used to represent the theme ?

What is the Rubber production in India?

Name the country having highest Rubber consumption show in the map?
What is the Rubber production in Japan? )

i B. Name and Mark the following on the outline map of the World : ]
(a) Rocky Mountains : (b) Equatorial forests
+ {e)” Low density population zone : - {d) Industrial area of India
(e) J.ongest railway line of the world. '

':Jl:h-bdl\)'-

2 Write a short netes (Any three) : S S i5
‘ (a) Nitrogen cycles
(b) Giobal warming.
(¢) Fund resources
(d) Water pollution
(e) Importance of forest.
(f} Food chain and Food web

{TURN OVER
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3

Read the case study given below and answer the following questions :
Case - Study
Rising waters may leave Mumbai at sea -
- 4 recent study has warned that the predicted sea level of 50 cm by 2050 could prove
sertously damaging for Mumbai. The research, carried out by Alex De Sherbinin and two

- other scholars, suggest that storm surges, coupled with a rise of 50 cm in the sea level, will

render coastal and law-lying areas uninhabitable. .
The rescarchers claimed that Mumbai vulnerability to climate extremes such as

. storms playing up in tandem with the sea level rise was higher because of the poor

drainage system and the fact that the city lies in a flood-prone region.

According 1o the researchers, the city’s location on several seismic faults as well as
its unsanitary methods of disposing raw sewage and industrial waste into the water and air
surrounding it adds to the risk. They warned that the susceptible railways system would
need to be elevated and the drainage system upgraded in order to reduce the threat from
the rising sea. They noted that while projects were underway to upgrade the drains running
alongside the ra lines, they had not been designed keeping in mind the sea level nise. The
tcam cited another study which showed that among all the coastal cities Mumbai was
most likely to experience damage because of a rise in sea level.

Moreover, the report said, with shifting likely in the subsurface of reclaimed lands,
many buildings might become uninhabitable due to structure instability.

Mumbai, with almost 55% of its population residing in slums, is also vulnerable
because of lack of dykes and other coastal 'atmaments' to deal v the sea level rise. The
study says the overall vulnerability of the city remains high and it will find it hard to cope
with flooding and sub-surface shifting reclaimed and landfilled areas despite the fact that
it has a resilient unofficial social response to crisis and nelaborate disaster management
plan. '
Questions:

1. What will be impact of climate change coastal low lying areas in Mumbai? why?

2. Why is Mumbai likely to become vulnerable to climate change?

3. What were the flaws in planning which made Mumbai vulnerable to storms ?

4. What are the suggestions made by the researchers to reduce vulnetability of Mumbai
‘to storm water?

(a)" Explain, abiotic components of natural environment in brief.
(b) Explain importance of environmental studies.

(a) Write about the classification of resource in brief ?
(b) Discuss various methods of water conservation.

(a) write about major sources of food. :
(b) Explain the concept of “Human Development Index”

[V SH I 5 I S
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Section-I1
7 (a) Name and Mark the following in the outline map of Mumbai : 5

(i) Vihar lake
(i) Mahim Creek
. (1ii). Juhu beach
- {iv) Cattle shed
- (v} Dadar Terminus.

(b) Name and Mark the in the outline map of Konkan : 5
(i) Thane District. |
(ii) Bird sanctuary
(1ii) Hill station
(iv) Amboli Ghat
(v} River Savitri

&  Write short notes (Any three) : is
(a) Advantages of water transportation.
(b) Agro tourism
(c) Narmada bachav andolan.
(d) Types of communication.
(e) Flood
(f) Sources of waste

9 Read the case study given below and-answer the following questions
- Case Study ' '
Villages to get climate managers
The barde against climate change is all set to go down to every village in the
country. In a bid to create awareness about global warming the government has decided
to train and appoint "climate managers" in villages whose main task will be to create
awareness and take steps fro sustainable development at the grassroots level. Besides,
they will be trained to handle natural disasters and prepare their areas to face such
. crises. “Three agencies have been tasked with implementing the project-the ministers
- of panchayati raj and science and technology and the chair sustainable development at
the Indira Gandhi National Open University (IGNOU).
- - The programme was aimed -at meeting the challenges of climate change and
sustainable development. "People at the grassroots with be the first to bear brunt of
- climate change. So; we have decided to train people in villages to be climate managers.
"The task of managing climate change will be customized as per local needs. A
- man-and a woman climate manager from each gram sabha will be trained in the science
- and art of managing climate change and enhance their capacity to cope with natural
calamities".

[TURN OVER

.




P4-Exam.~-2019-1-113

Con. 166—-SP-7869-19. 4

Questions :
1. Why did the Government decided to appoint climate managers in every vxliage‘?
-2 What will be the main task of the climate managers?
3. Name the agencies which will scheduler the responsibility of trammg chmate ‘
manager.
4. Suppose you are a climate manager in coastal village in Konkan. How will 4
you plan your programme to over come climate change?

[~

[ %3
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10 * (a) Explain pre and post disaster management of flood in brief. ' 8
(b} Write note on Earthquake. 7

11 (a} Write about factors for increasing tourism indusiry. 8
(b) Explain types of tourism in brief . 7

12 (a) Explain environmental management in brief. 8
(b) Write about types of waste with suitable example. 7
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[Total Marks 100

N.B.: (1) Answer any two qu:stions 'from Sectxo‘n I B AR
(2) Answer any three qustions from Section II. AP
- (3) Answers to both the sections to be written in the same answer: book
(5) Use of non- programmable, scientific calculator i is allowed.
(6) Flgures to the right indicates full marks to the sub qnestlon
(D Graph paper w1ll be supplred on request ' :

CSeonl

(a) An mvestor sold hrs real estate: property for T 8 00; 000 and purchased another 5
“for € 7,50,000 throught the same agent The agent charged him 2% commrssron
on sale and 1% commission on purchase. Find agent’ 8 commrssmn earning and
1nvestor § savmg, if amy, - o R :

l_(b) A certain lot of 1tems IS sold for ? 8 550 after allowmg trade drscount at 10% 5
and subsequently cash dlscoun_t at 5% Determme the market pnce _and cost prlCB
ofthe lot'if proﬁt is ? 1, 250"""“‘ : S

(c) A, B and C start a busmess by mvestmg ? 50 000 ? 60 GOO and 3 90 000 respectrvely 5
- “'and share the profit of 1, 80 000 at the of the year F md the share 1n proﬁt of
each partner. :

f(d) Sales of a computer for ? 21 400 resulted Into a 14 4% Flnd 1ts cost prlce -5

2. (a) Fmd the rate of returmn on mvestment 1f 500 shares of face value 100 where purchased 5
at T 3,500 each and sold later at T 3 670 each. The brokerage being 0.5% on
both the transactions. :

n(b) Mr. Modi invest 5500 p m. in- SIP of mutual fund for 4 months The NAV are .5
¥ 83, 95, 105 and 112 respectlvely The entry Ioad was’ 1 5% throughout Find
-average. cost. przce per unit. : :

:'.(0) The dlfferent klnds of foods A, B and C are to be consrdered to forrn a weekiy 5
' 'diet’ The minimum weekly requlrements for fats, carbohydrates ard protems are
*12:30 and 20 units’ respectrvely Onekgof foodA has 2; 16 and 4 units respedctlvely
 of these ingredients and one kg of food B has 6, 4 and 3 units respectively where
as on kg-of food € has 1, 5:and: 7 units of these ingredients, if the-cost per kg of
’ foodA i8 75 per kg. food B'is f“EO and per kg of food C'is ?_60"';-‘eonstruct the
'3 problem of minimize the cost : . o |

(d) Solve the followmg LPP- graphrcally ERE S 5
Maximize Z = 10x + 15y subject to 3x + 4y < 12 x+ 2y < 4 X, y > 0.

- [TURNOVER
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3-. ,

(a) D1fferent1ate the following with respect to x.
() y =7 logx + 5% + e* + 4* 5, - (i) y g log e e Lo

(b} A manufacturer can sell x 1tems at'a pr1ce 2330 x each:: Total cost of producmg
X iters is ? (x2 + 10x +12). Fmd X for wh1ch the prot“ tis maxrmum

where D Demand and p prlce

(c) The demand functmn is g1ven by E"I")"“;l‘,

Find the elasticity of demand when the pr1ce is 8.

(d) The manufacturer priduce X packets of brscuts per day. The fixed cost is T 2000
_ per day. The cost of manufacturlng is ¥ 17 per packet.and the distribution charges
are T 3 per packet. Find the total cost functio. If each packet to be produce is
sold at3 30, ﬁnd the proﬁt functlon and also ﬁnd break-even pornt

(a) Compute the compound amount and compound mterest of ? 12000 1f mvested

at 10% for 2 years ‘and the 1nterest copound sem1 annually

N (b) The difference between s1mp1e and compound mterest on a certam amount for

4 years at 10% pa. is 3 I, 282 Flnd the pr1n01pal

: (c) F 1nd the maturlty Value of an annulty of 4 8,000, payable 4 years hence if the

interest is compounded annually at 8%.

(d) A loan of ¥ 75,000 is to be returned in. 4 monthly 1nstalments at the rate if
12% p.a. compounded monthly Find the EMI using the reducmg balance method.

Sectron II |

(a) Distinguish between prnnary data and secondary data

: (b) Tabulate the data g1ven below

In 197 5, out of total a 4,000 workers in a factory, 3, 300 were: members of a trade
- union. The number of Women ‘workers employed was 500 out of which 400 did
. not belong to the union. In 1974 the number of workers in the union was 3 450
o of which, 3,200 were men. The number of non-union workers was 760 of which
. 332 were women.

. (c) Draw-a less then Ogrve for. the followmg data and ﬁnd med1an graphlcally

Marks | 0-10 | 10-20 | 20-30| 30-40 | 40-50 | 50-60
No. of Students | 15 20 | 40 | 20 | 10 | 4

(a) Calculate arithmetic mean and mode for the following data :
o Marks 0-10 | 10-20 [20-30| 30-40 | 40-50.
| No. of Students | 6 12 17 8 7

_
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~(b) Find quartile deviation and its "coefficiént: for the following data : 7
Daily wages in €| 20-25]25-30[30-35 | 35-40 |40-45 | 45-50 | 50-55
No.ofworkers | - 2 | .5 | 8 | 1210 | 7 | 6
(c) Calculate standard Deviation and coefficient of variance for the following data : 7

52, 61, 40, 62,47, 61, 56: -~ -

7. (@) IEB(A) = 2/5, P(B) = 1/3 and if A and B ars independent ovents, find 6
() P(A A B), (i) P(A UB), (i) PEAE).

(b) The 'probabili.ty distribﬁti_on of a random variable X is as folléws D 7
. - X 0 — .. 2 — T 4 o ‘ ‘-6. - T .-8~ . e s

Py | k] 2%k | 3k | 3k | k|
Find value of ) K (i) B(X) (i) vX).
() An athlete hés4_GoId medals, 6 Silver medals, 9 Bronze medals. If 3 medals are 7
selected at random, Find the probability that (i) each is of different type and (ii)
1 is silver and 2 are bronze medals. o X
8. (a) Explain the concept of correlation with the help of scatter diagr‘ams. ‘ 6
(b) Find Spearman’s rank correlation cbefﬁcie_nt for the following data : 7
X J10011201] 125 {115 {112 |{ 105] 130 | 124
Y | 65| 48 | 34 | 37 54 | 46 {52 | 28
" (¢) Obtain both the line of regression for the following information. Also find marks 5
of mathematics if he scores 75 marks in statistics, given that the correlation
coefficient is 0.5 - - .o

T | Mathematics | Statistics
Mean Marks - . 50 : 60
_ ‘Standard deviation 4 | 5
9. (a) Explain seasonal indices by method of simple average. . 6

(b) Fit a straight line trend By the method of least square to the following data and 7
obtain the trend value for 2012. '

Years 2007 2008 | 2009 | 2010 | 2011
Sales ("000 units)|] 58 .| 79 100 121 142

[TURN OVER
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(c) For the following data calculate the cost of living index number for the year, 2006 7
by the Aggregatlve expendlture method I

Pnce:per unit* ;

C_ommodlty ‘
B I & Year 2004 Year‘2006 '

Rice
Wheat

Pulsés EOEEIIRRE VS AR T 10 R 5 SR SRS S A BT S S

Sugar R RS e
Gheet | o s e fn g o]
Milk ’

(&) Write short notes on décision tree éﬁﬁ‘}pfoeé'dnféfof drawmg deci'si'on tree.. 6
(b) From the. following. pay of table Determlne thf: best posmble act by using 7
(1) Maxn‘num criterion,. (11) Maxxrnax criterion (111) Laplace crlterlon |

vent | E1 EZ E3E4 f el o

’;A3n§;Tff2bf’??4f{;14glizefliiefi**7”‘55‘1"5

(c) Erom the followmg pay-off table decnde on the b"st‘,_fmvestment for an entrepreneur ”
calculatlng expected opportunlty loss (EOL) o

| State of economy Probabxllty Investment alternatwe

o Lo pe Mall College Dlscot;he_q.u_e '
Fﬁr““@;ffﬁ%fﬂzifg;éﬁﬁmx;?L;;” e |
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Con. 139-19. (quéVISED COURSE) P *7?) SP-7768
(3 Hours) [Total Marks : 100

'N.B. (1) All Questions-are Compulsory.
'(2) Figures to the right indicate full marks.
(3) ‘Working notes should form the part of your answer.
. Q.. A) Select the appropriate option and rewrite the full sentence (Any Ten) 10
1) Accounting Standard 2 deals with '
{Discloser of Accounting Policies / Valuation of Inventory)
2) Total amount payable by the purchaser in Hire Purchase transaction is
called ' L
(Hire purchase price / Cash Price ; ,
3) In Departmental Accounts, Advertisement Expenses is allocated on the basis
of of each department. (Sales turnover / Area occupied)
4) Amount received on issue of shares is a
(Capital Receipt I Revenue Receipt)
5) For a books manufacturing company, paper isa

 (Raw material / Finished goods) _
6) In " method of stock valuation, items received first are

issued first, so that the latest purchased items are left in stock.
(Weighted Average / FIFO)
7) Consignor-Consignee relationship 18
(Master-servant relationship / Principal-Agent relationship) )
8) Closing Stock Reserve is to Branch account in Branch Debtors Method.
(Debited / Credited) : : : '
9) Actual loss of stock due to fire = Stock on the date of fire less
(Salvage / Compensation)
10) Account Sales is prepared by
(Consignor / Consignee)
11) Incalcnlating Fire Insurance Claim undervaluation of stock needs to be brought
to _ _
: (Market Price / Cost Price)
12) Profit on Consignment belongs to
(Consignor / Consignee)

Q.l. B) .State whether the following statements are True or False. (Any Ten) 16
_ .+ 1) Hire purchase price includes interest. . , _
2) Discount allowed is allocated to departments in sales proportion.
3) Inventory is a current assets. : :
4) Wages paid for installation of machinery are debited to Machinery account.
5) Initial payment on signing the agreement is called as Down payment.
- 6) Overvaluation of closing stock shows more gross profit.
7) Credit Sales are debited to Debtors account.
8) Sales returns are also called as return inwards.

[TURN OVER
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9) Average clause is applicable incase of underinsurance.
10) Proper books of accounts are maintained under single entry sybicm
41} Discount allowed is:credited to.creditors account.
12) Memorandum Trading Account is always prepared for one year penod.

‘Q.2.: From.the following Trial balance of Mr: Sujay, Prepare Final Accounts of the firm : 15

* TRIAL BALANCE AS ON 31.3.2019

PARTICULARS _ DERIT CREDIT
4 4
Creditors ‘ 1.00.000
Bank overdraft , 42,000
Machinery 1,60,000 |
Opening Stock: i
Raw material : 52,000
Finished goods 60,000
Work in progress 4,000 |
Purchases of Raw material 5,60,000
Direct wages 1,12,000 . -
Factory rent ' 54,000
Carriage Inward on raw material 10,000 -
Drawings 60,000
Sales 10,00,000
Sundry Debtors 2,00,000 '
Cash at bank 38,000
Office salaries 14,000
General Expenses _ 4,000
_Discount allowed 12,000
Commission _2.000
Capital A/c of Sujay 2,00,000
| | 13,42,000 13,42,000

Following further information is provided.

1) -Closing Stock as on 31.3.2019:
- Raw Material ¥ 64,000; Work in progress < 8,000 and Finished goods < 70,000.

2) Depreciate Machinery @ 10% p.a.

3) On I January 2019, there was a fire in the godown of Mr. Sujay, destroying -
finished goods worth ¥ 24,000, insurance company admitted the claim for
% 16,000. This transaction was not recorded in the books. .

4) Provide Reserve for Doubtful debts@ 5% on debtors.

5) Commission payable ¥ 2,000. - o

OR

(I
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Q.2. Following is the record of transactions regarding purchase and sales of Mr. Ranjit :

3

Date . Particulars Units Rate P.U. )

01.03.2018 | Opening Balance 15000 50

7 06.03.2018 | Purchases 20000 | - 60
_ 12.03.2018 | Sales 25000 80
©15.03.2018 | Purchases 15000 - 65
21.03.2018 | Sales 20000 _ 90
25.03.2018 | Purchases 18000 70
28.03.2018 | Sales 10000 - 93
| 29.03.2018 | Sales 5000 100
31.03.2018 Purchases 12000 80

Find the following from the above:

Q.3 From the following particulars of King & Co. Prepare Trading and Profit & Loss A/c of 13

1) Value of Stock using FIFO Method as on 31.3.2018.
2) Cost of goods sold for the Month of March 2018.

~ two departments Mobile and Laptop for the year ended 31.3.2019.

-

15

Particulars Mobile | Laptop Total
3 04 £4
Opening Stock {1.4.2018) 75,000 1,05,000 1,80,000
Purchases | 13,20,000 19,80,000 | 33,00,000
Sales 15,00,000 21,00,000 | 36,00.000
Closing Stock (31.3.2019) 4,20,000 5,40,000 9,60,000
Carriage inwards 16,500
Salaries 45,000
Discount Received 13,500
Rent & Rates 1,08,000
+ Travelling Expenses 36,000
Carriage Outwards 10,800
| Sundry Expenses 54,000 .
Publicity Expenses 12,600
t Discount allowed 18,900
Insurance 16,300
Selling Commission 25,200
Further Information:

1} The area occupied is in the ratio of 3:2 between two Dept.
2) Salaries, Sundry Expenses and Insuranc

-OR

@D

e are to be allocated equally.
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Q.3

Mr.Arya purchased a Motor Car on hire purchase basis from Honda Ltd. on 15
1* Jannary, 2016. He paid ¥ 3,00,000 on si gning the contract and agreed topay 3 installments

. -of cash price excluding interest as. follows:

On 31.12.2016 ¥ 3,00,000
- On 31.122017 ¥ 3,30,000
On 31.12.2018 ¥ 3,70,000

© . The Cash Price of the Motor Car was ¥ 13,00,000. Interest is charged at 10% p.a. by

Q.4

‘HondaLtd. on outstanding amount. Depreciation @20% p.a. on W.D.V. method is charged.

Prepare: 1) Motor Car A/c
2) Honda Ltd. Alc _
3) Interest A/c in the books of Mr.Arya for the years 2016, 2017 and 2018.

Mir. Unhappy keeps his books under single entry system. An abstract of his cash transactions 15
For the year ended 31.12.2018 was as follows :
a) Cash & Bank Account
Receipt 4 Payment g
To Balance b/d 10,000 ) By Cash Purchases 47,000
To Cash Sales 1,20,000 | By Creditors , 2,80,0600
To Debtors 3,20,000 | By Office Salaries ' 50,000
To Dividend Received 6,000 | By Rent & Rates 10,000
To Sundry Income 40,000 | By Sundry Exp. 15,000
By Advertisement 19,000
By Equipment purchased (1.1.2018) | 30,000
By Wages 12,600
By Import duty 5,000
By Balance c¢/d 28,000
Total |4,96,000 : Total |4,96,600
b} Details of Assets and Liabilities:
.| Particulars - 1.1.2018 () | 31.12.2018 (})
Equipment 20.000 50,000
Stock L 30,060 40,000
Debtors 57,000 68,000
Creditors - 24,000 42,000

¢) Other Information: : |
1) Provide depreciation on Equipment @ 10% p.a.
2) Salaries prepaid ¥ 2,500.
3) Provide Interest on Opening Capital @6% p.a.
4) Wages outstanding T 8,000. '
You are required to Prepare Trading & Profit and Loss A/c for the year ended 31.12.2018

. and Balance Sheet as on that date.

OR
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Q.4. M/s ACC Cements Ltd., Chiplun consigned to M/s Reyansh Bros. of Goa, 7,500 Cement 15
: bags costing T120 per bag. M/s ACC Cements Ltd. paid ¥ 6,750 for railway freight,
.. 3,750 for insurance and ¥ 3,300 for sundry expenses. . - : _
- On receipt-of consignment M/s Reyansh Bres. accepted a Bill for ¥ 3,00,000 which was
discounted by the consignors at the bank for ¥ 2,99,250 and discount was charged to
. -.consignment account. '
- M/s Reyansh Bros; sent an Account Sales which shows as -
.- . 1) Cash sales. of 6,000 bags @ T150 each.
-+ 2) Expenses paid by Reyansh Bros. were: (i) ‘Godown Rent ¥ 3,000;
(ii) Selling Expenses ¥ 9,000.
3)-. Reyansh Bros. remitted the balance due by Bank Draft after deducting their
expenses and commission at 2% on gross sales.
Show Consignment Account and Consignee’s Account in the books of Consignor.

Q.5. Prachi Ltd. Operates a retail Branch at Khed. All purchases are made by the head office 15
in Thane. Goods are sent to branch at invoice price which is cost plus 25% All cash
received by the branch is remifted to H.O.

~ On 1.4.2018, the branch shows the following Balances:

Particulars : _ 4
Stock in Trade (at Invoice Price) 1,87,500
| Sundry Debtors 37,250
Equipment 18,000
Computer 6,000 ]
Cash in hand - 4,500
During 2018-19 the following transactions took place at branch.
Particulars L4
Goods invoiced to branch at Invoice price - 2,25,000
Credit Sales 75,000
Cash sales , 2,00,000 -
Discount to Debtors 4,000
Bad debts 2,500
Expenses paid by H.O. for Branch:
Office Salaries 10,000
Office Rent _ 5,000
Sundry Expenses o 2,500
Goods returned by debtors 6,000
Goods returned to H.O. (at Invoice price) - | - 7,500
- [ Amount received from Branch Debtors 70,000
. 'Balance as on 31.3.2019 at Branch: '
Stock in Trade {at Invoice price) 60,000 |
Sundry Debtors ?
Cash in hand _ 3,600
Equipment _ 16,200
Computer - 5,700

Prepare Khed Branch Account and Branch Debtors Account in the books of H.O. using

- Debtors Method.
OR .
[TURN OVER"
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Q.5 Fire occurred in the premises of M/s. Unfortunate Traders on 1% Sept. 2018. Stock of the 15
value of ¥ 52,000 was salvaged and the business books and records were saved. The
¢ .~ following information was obtained. ' SRR . :

Particulars 1.4.2017 To 31.3.2018 | 1.4.2018 To Date of Fire

Sales o < 5,50,000 : ¥ 1,50,000
Purchases = | 290,000 . < 75,000
Wages - ¥60,000 . | 7 5,000 pm.

Stock as on 1.4.2017 ¥ 1,67,500 and as on 31.3.2018 71,60,000. The Insurance policy is
for T 1,25,000. :

- Calculate the amount of claim to be presented to the insurance company in respect of the.
loss, '

Q.6 Answer the following:

a)
b)

Distinguish between Capital Expenditure and Revenue Expenditure. 10
What is branch? Describe various Accounting Methods of Branch Accounting. jg

OR

Q.6. Write short notes on: (Any 4) 20

1)
2)
3)
4)
5)
6)

Manufacturing Account.

Hire Purchase Price and Cash Price.
Average Clause.

Importance of Accounting Standards.
Proforma Invoice in Consignment.
Memorandum Trading Account.
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(3 Hours) [Total Marks : 100

. NuB. (1) . All Questions are Compulsory. -
(2) Figures to the right indicate full marks.

+:(3). Werking notes should form the part of your answer.

: ‘ ' - SECTION-I :

QL. From the following Trial balance of Mr.Sujay, Prepare Final Accounts of the firm : 18

TRIAL BALANCE AS ON 31.3.2019

PARTICULARS DE:IT | CRF%DIT
Creditors ' ' 1,00,000
Bank overdraft 42,000
Machinery 1,60,000
Opening Stock:

Raw material _ - 52,000

Finished goods - 60,000

Work in progress 4,000

Purchases of Raw material 5,60,000

Direct wages 1,12,000

Factory rent 54,000

Carriage Inward on raw material 10,000

Drawings 60,000

Sales : ’ 10,00,000

Sundry Debtors 2,00,000

Cash at bank 38,000

Office salaries : 14,000

General Expenses ' 4,000

Discount allowed | 12,000

Commission : 2,000 -

Capital A/c of Sujay - 2,00,000
' S S 13,42,000 | 13,42,000

Following further information is provided :

1) Closing Stock as on 31.3.2019:

Raw Material T 64,000; Work in progress ¥ 8,000 and Finished goods ¥ 70,000.

2) Depreciate Machinery @ 10% p.a.

3) On 1% January 2019, there was a fire in the godown of Mr. Sujay, destroying
finished goods worth ¥ 24,000, insurance company admitted the claim for
¥ 16,000: This fransaction was not recorded in the books.

4) Provide Reserve for Doubtful debts @ 5% on debtors.

5) Commission payable ¥ 2,000. ,

' [TURN OVER
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Q.2. A) Fill in the blanks choosing the correct alternative :
1) Accounting Standard 2 deals with
- (Discloser of Accounting Policies / Valuation of Inventory)

2) Total amount payable by the purchaser in Hire Purchase transaction is =

called
(Hire purchase.price / Cash Price)

- 3) In Departmental Accounts, Advertisement Expenses is allocated on the. ba315 |

of - __+of each department.
(Sales turnover / Area occupied)

4) Amount received on issue of shares is a
(Capital/Receipt / Revenue Receipt)

5) For a books manufacturing company, paper is a _
(Raw material / Finished goods) :

6) In method of stock valuation, items received first are issued
first, so that the latest purchased items are left in stock.
(Weighted Average / FIFO)

7 shows the financial position of the company at the end of
the year.
(Profit & Loss A/c / Balance Sheet)

8) The person who sells goods on hire purchase basis is called a
(Hire purchaser / Hire Vendor)

Q.2. B) State whether the following statements are True or False:
1) Hire purchase price includes interest.
2) Discount allowed is allocated to departments in sales proportion.
3) Inventory is a current assets.
4) Wages paid for instaliation of machinery are debited to Machinery account.
5) AS-2 governs inventory valuation.
6) Furniture Account is Real Account.
7) Initial payment on signing the agreement is called as Down payment.
8) Overvaluation of closing stock shows more gross profit.
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Q.3

9

From the following particulars of King & Co. Prepare Trading and Profit & Loss A/c of 16

two departments Mobile and Laptop for the year ended 31.3.2019.

Particulars - Mobile | Laptop - Total
_ S 4 (4 3
Opening: Stock (1.4.2018) 75,000, { 1,05,000. | 1,80,000
Purchases - 13,20,000 - | 19,80,000 | 33,00,000
Sales 15,00,000 | 21,00,000 | 36,00.000
| Closing Stock (31.3.2019) 4,20,000 5,40,000 9.60,000
Carriage inwards ' 16,500
Salaries 45,000
Discount Received 13,500
Rent & Rates 1,08,000
Travelling Expenses 36,000 °
Carriage Outwards 10,800
Sundry Expenses 54,000
Publicity Expenses 12,600
Discount allowed 18,900
Insurance 16,800
Selling Commission 25,200

Further Information:

1) The area occupied is in the ratio of 3:2 between two Dept.

2) Salaries, Sundry Expenses and Insurance are to be allocated equally.

OR

Q.3 MrArya purchased a Motor Car on hire purchase basis from Honda Ltd. on 1%t January,
2016. He paid ¥ 3,00,000 on signing the contract and agreed to pay 3 installments of cash

price excluding interest as follows:
On 31.12.2016 T 3,00,000
On 31.12.2017 ¥ 3,30,000.
. On 31.12.2018 ¥ 3,70,000

. The Cash Price of the Motor Car was ¥ 13,00,000. Interest is charged at 10% p.a. by

. ‘Honda Ltd. on outstanding amount, Depreciation @20% p.a.on W.D V. method is charged.
3) Interest A/c in the books of

Prepare: 1) Motor Car A/c

2) Honda Ltd. A/c

" Mr. Arya for the years 2016, 2017 and 2018.

[TURN OVER
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SECTION-II

For the year ended 31.12.2018 was as follows :

-~ Q.4.Mr. Unhappy keeps his books under smgle entry system. An abstract ofhis cash transactmns 18

47 el

a) Cash & Bank Account
_ Receipt - ¥ . Payment T
| To Balance b/d. 10,000 By Cash Purchases - .
To Cash Sales 11,20,000| By Creditors 2,80,000 1
_______ To Debtors . 3,20,000 | By Office Salaries 50,000 -
To Dividend Recewed 6,000 | By Rent & Rates 10,0001
'To Sundry Income 40,000 | By Sundry Exp. 15,000
By Advertisement 19,0001 -
By Equipment purchased (1.1 2018) 30,000
By Wages 12,000
By Import duty 5,000
: By Balance ¢/d 28,000
Total |4,96,000 Total | 4,96,000
b) Details of Assets and Liabilities: _
Particulars 1.1.2018 (%) | 31.12.2018 (?)
Equipment 20,000 50,000
Stock 30,000 40,000
Debtors 57,000 68,000
Creditors 24,000 42,000
c) Other Information: :

1) Provide depreciation on Equipment @ 10% p.a.

2) Salaries prepaid T 2,500.

3) Provide Interest on Opening Capital @ 6% p.a.

4) Wages outstanding ¥ 8,000.

- You are required to Prepare Trading & Profit and Loss A/c for the year ended 31.12.2018
and Balance Sheet as on that date,

Q.5 A) Fill in the blanks choosing the correct alternative,

1) Consignor- Consignee relationship is _

- (Master-'servant relationship / Principal- Agent relationship)

- 2) Credit Sales can be ascertained by preparing
- (Debtors / Creditors)
3) Closing Stock Reserve is
(Debited / Credited) -
4) In single entry to find out credit purchases
(Debtors Account / Creditors Account)

Tx

Account.

to Branch- account in Branch Debtors Method.

1s prepared.
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Q.5

Q6

5) Account Sales is prepared by
~ {Consignor / Consignee) , _
"+ 6):If del-credere commission is not paid to consignee, bad debts loss is assumed
by .
. {Consignee / Consignor) _
7) Return outward is . - - to creditors account.
- (Debited / Credited)
- 8) Profit on Consignment belongs to
(Consignor / Consignee)

B) State whether following statements are. True or False: o 8
1) Credit Sales are debited to Debtors account. '
2) Credit Sales can be ascertained by preparing debtors account. -
3) Sales returns are also called as return inwards.
4) Sales return is credited to debtors account. .
5) Proper books of accounts are maintained under single entry system.
6) Single Entry System is suitable for large organisation.
7) Discount allowed is credited to creditors account.
8) Bad debts is recorded in Branch Account.

M/s ACC Cements Ltd., Chiplun consigned to M/s Reyansh Bros. of Goa, 7,500 16
Cement bags costing T120 per bag. M/s ACC Cements Ltd. paid ¥ 6,750 for railway
freight, ¥ 3,750 for insurance and ¥ 3,300 for sundry expenses.

‘On receipt of consignment M/s Reyansh Bros. accepted a Bill for ¥ 3,00,000 which

was discounted by the consignors at the bank for ¥ 2,99,250 and discount was
charged to consignment account. M/s Reyansh Bros. sent an Account Sales which '
shows as : '
1) Cash sales of 6, 000 bags @ 150 each. _ -
2) Expenses paid by Reyansh Bros. were: (i) Godown Rent ¥ 3,000; (it) Selling
Expenses ¥ 9,000.
‘3) Reyansh Bros. remitted the balance dueby Bank Draft after deducting their
expenses and commission at 2% on gross sales.
‘Show Consignment Account-and Consignee’s. Account in the books of
Consignor. '
' OR

-

[TURN OVER
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Q.6 Prachi Ltd. Operates a retail Branch at Khed. All pu;rchases are made by the head 16
office in Thane.
~Goods are sent to branch at invoice price which is cost plus25%. All cashreceived
by the branch is remitted to H.O.
On 1.4.2018, the branch shows the following Balances:

‘ . . Particulars IR
Stock in Trade (at Invoice Price) : 1,87,500 |-
Sundry Debtors ' 37,250 |
Equipment 18,000
Computer . 6,000
Cash in hand : 4,500
During 2018-19 the following transactions took place at branch.

Particulars 4

Goods invoiced to branch at Invoice price 2,25.000
Credit Sales ) 75,000
Cash sales 2,00,000
Discount to Debtors , 4,000
Bad debts ' 2,500
Expenses paid by H.O. for Branch: .
Office Salaries 10,000
Office Rent 5,000
Sundry Expenses - 2,500
Goods returned by debtors 6,000
Goods returned to H.O. (at Tavoice pnce) 7,500
Amount recetved from Branch Debtors 70,000
Balance as on 31.3.2019 at Branch: _
Stock in Trade (at Invoice price) 60,000
Sundry Debtors ?
Cash in hand © 3,000
Equipment : IR : 16,200
Computer 3,700

Prepare Khed Branch Account and Branch Debtors Account in the books of H.O.
using Debtors Method.

F'8: oy
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